Agronic 4500

Expansion up to 40, 56, 72, 88 or 104
outputs for box model

SUPPLIED MATERIAL

Number of outputs

T’V 24 to 40 56 72 88 104
- . J s Expansion box - 1 1 1 1
; o RJ11 and RJ45 pacer Screw
E lat
xpaorLstlrc;Sts ate cables 30 mm M3x6 Relay plates 1 2 3 4 5
M3x6 screws 4 - - = =
R— Plastic washer 4 - - = =

() PROCRES .

@

M3 nut and plastic _ Nut M3 i i i 4 i
washer ; 30 mm spacer = = 4 = 4
|
Il-l Green internal cable - 2 2 2 2
{/-\1 5 | N __ External cable = 1 1 1 1
T —— RJ11 Cable 1 2 3 4 5
RJ45 Cable 1 2 3 4 S
External and internal cable Expansion box
BOX FORMAT ASSEMBLY
1 Disconnect power from the 2 Remove the four screws. 3 Lift the keyboard.

Agroénic 4500

4 Depending on the number of

ACRONIC 500

expansions to be installed, a marked

hole must be made on the right side
of the main enclosure (starting from

the 2nd expansion of 56 outputs).

5 Place and secure the supplied plates using the screws and washers as

indicated in the following image.

17mm

E M3 x 6 screw and
— Plastic washer

Istexpansion

Manual - Agrénic 4500 - -l



6 Forinstallations with 2nd, 3rd, 4th and 5th-gauge expansions, place and secure the plates as indicated below.

77 Connect the two boxes with
the external cable supplied, taking
the white dot that joins the two

connectors into account.

9 Close the unitand replace

External connector

Reference point

Internal connector

only the four screws.

...... B L] ) e

PG

o = ® 4

2 . Manual- Agroénic 4500

Expansion up to 72 or 104 outputs

Female and
Plastic washer

3/5% expansion
30 mm spacer

2nd/4% expansion

8 Depending on the number of outputs, connect the (RJ11 and

Expansion up to 56 or 88 outputs
Female and
Plastic washer

an
— 2"/4" expansion

) cables

between the different plates. Follow this connection diagram.

Main box with 1st expansion

10 Important

Before  powering  the  unit,
connect the antenna cable.
Also necessary  for units

that do not use the modem.

Secondary box with 2nd, 3rd, 4th
and 5th expansion




Agronic 4500

Expansion up to 40, 56, 72, 88 or 104
outputs for built-in model

SUPPLIED MATERIAL

RJ11 and RJ45 cables

Output expansion plate

T C

Screw Metal washer Spacer
M3x6 and plastic 30mm

BUILT-IN FORMAT ASSEMBLY

1 Disconnect power from the

Agroénic 4500.

24 to
Relay plates
M3x6 screws
Plastic washer
Metal washer
30 mm spacer
RJ11 Cable
RJ45 Cable

2 Remove the six side screws.

4 Depending on the number of
expansions to install, break the die-
cut as indicated in the following
image.

4™ expansion
(up to 88 outputs)

2" expansion
(up to 56 outputs)

1stexpansion
(up to 40 outputs)

5thexpansion
(up to 104 outputs)

3expansion
(up to 72 outputs)

indicated in the following image.

M3 x 6 screw and
Plastic washer

Istexpansion

40

B

3

Number of outputs
56 72 88 104

2 3 4 5
8 8 12 12
4 4

4 4

4 8 12 16
2 3 4

2 3

Separate the keyboard from

thibox. i \
%
B

5 Place and secure the supplied plates using the screws and washers as

M3 x 6 screw and
Metal washer

30 mm spacer

2" expansion

30 mm spacer

3 expansion

Plastic washer
Female M3

Manual - Agrénic 4500 - 3



6 Depending on the number of outputs, connect the (RJ11 and ) cables 77 Close the unit and replace

between the different plates. Follow this connection diagram. only the six side screws.

8 Important
Before  powering the  unit,

connect the antenna cable.

Also  necessary  for  units

Inside view of the drawer that do not use the modem.

Sistemes Electronics Progrés, S.A.

Poligon Industrial, C/ de la Coma, 2 | 25243 El Palau d’Anglesola | Lleida | Spain
Tel. 9733204 29 | info@progres.es | www.progres.es R-2552



